At the present time, the population of some countries includes a relatively large number
of young adults, compared with the number of older people. Do the advantages of this
situation outweigh the disadvantages?

These days, aA larger amount of young adults account for the population in some countries,
compared with the number of the-senior people. In my opinion, while this demographic
structure ldoes [place a heavy burden bn education systems, the benefits in terms of the
economy outweigh the costs greatly. \

On the one hand, this phenomenon will put heavy immediate/short-term pressure on fthe
financial budgets. Larger numbers of the-young adults/people means that more schools and
related facilities sheuld-must be provided, and the government has to spend-allocate) large

amounts of money ia-for the construction of the-public services related-to-the-young, such as

schools; and pre-school agensiesinstitutions. Furthermore, a larger proportion of the-young to

the—old signifies that the population is getting—targerexpanding/growing, leading to the

increase of housing prices because of the rising demand. For example, in China, the surge

efsurging population in the-past decades made-caused housing demand to exceed supply, and '

the housing prices finally peaked_in recent year Overpriced houses make-means the public
cannot afford them and the-publicget-stuck—in_ must either settle for cheaper accommodation

or in extreme cases sell their homes-heusingpreblems.

|On the other hand, heweveF),—younger populations can facilitate the development of the

economy in the long-term. The rere-the-younghigher proportion of younger people, the more
the—yeungeravailable workforce there is who can work and learn and take advantage of
advanced technology. Largerameunt-ofA larger workforce can_in turn produce more output
and then-promote |ndustr|aI|zat|on especially in rapidly developing nations. Fhe-pation-will
. v—For example, the-industrialization
in Chlna made progress rapldly before 2005 because of the young population. Labour costs
eoule-bewerel much lower and this attracted many foreign direct investments—wereattracted,
GDBP—increasing GDP greatM and serving as the foundation for China’s unprecedented
economic growth. [The low cost of labor allowed corporations to expand rapidly, hire more

workers and mcrease the presence of Chlna in a number of qlobal industries| che#eﬁeFe}—the

In conclusion, the benefits of developing industrialization far putweigh the costs of managing
the education systems and the housing market as the history of China and similar countries
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